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Construct rotation matrix by first multiplying by Mz(-45 deg), then by Mx(90-26.5) = 
Mx(63.5 deg):
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Project object points into the image by:
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simp2b.m
% simp2b.m  17-sep-09
% simulate photo
% like simp2a.m but use 90-26.5 = 63.5 deg for mx rotation
% and use size to get polyline length instead of testing for NaN

load pdat;
px=zeros(100,1);
py=zeros(100,1);
gx=zeros(100,1);
gy=zeros(100,1);
n=0;
degrad=180/pi;
r45=45/degrad;
r63=63.5/degrad;

mx=[1 0 0;0 cos(r63) sin(r63);0 -sin(r63) cos(r63)];
mz=[cos(-r45) sin(-r45) 0;-sin(-r45) cos(-r45) 0;0 0 1];
m=mx*mz;
m
zg=200;
xl=913448;
yl=574562;
zl=700;
f=152.4;
% can use size to get number of features
% here it is hard-wired to 51
for i=1:51
  [nr,nc]=size(c(i).X);
  nv=nc-1;
  for j=1:nv
    gx(j)=c(i).X(j);
    gy(j)=c(i).Y(j);
    j=j+1;
    end
  px=zeros(nv,1);
  py=zeros(nv,1);
  for j=1:nv
    XYZ=[gx(j);gy(j);zg];
    XL=[xl;yl;zl];
    DX=XYZ-XL;
    UVW=m*DX;
    px(j)=-f*UVW(1)/UVW(3);
    py(j)=-f*UVW(2)/UVW(3);
    end
  plot(px,py,'r-');
  hold on
  end
axis equal

% draw image coordinate axes

v=axis;
px=[0 0];
py=[v(3) v(4)];
plot(px,py,'b-');
px=[v(1) v(2)];
py=[0 0];
plot(px,py,'b-');
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